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1. Under which one of the following conditions will the
owo planes x+y+zr=7 and ac+fy +2=3 be
parallel (but not colncldent) ¥
)= ﬂ 3L gﬂfﬂf
{hlu=ﬂ=r=;ﬂn1?

lu=RA=y

(d) None of the abowe

2 The ma:m%:lg
which aoe of the fellowing 7
[a)dx+ 3y -5z=0

(b} ax + Sy -42=0

) dx+dy-52=0
[d)5x+ay—B==0

-"':L;E is parallel to

1. 100 is the aciste angle between the diagonals of a cube,

then which ¢ae of the following s comect ?

{a) B« 307 ~ (bla= &0°
{ch 30° < = B0 (d} &= &
4, Which one of the fellowing planes eontains the .axis 7
@lx-z=0 (Blz+y=0
() 3x+ 2y =0 () dx+2r=0

5 E‘gua[mn of a cirde passing through origin i=
+¥* - Gx+ 2y =0 What is the equation of one of

its dinmeters 7
(a}x+3y =i byx+yp=0
[clx=y ' {d)3x+y =D
. Which ome af the following is comect 7 The eccemricigy
of the conic
L yE
It e

(&) irwrenses with increase in A
(b] decreases with increase in 2,
. [c) does not change with &

(d) Mane of the above

7. Point (1, 2y relative 1 the
Jr=+_]-'= +dx -2y —4 =101z a/an
{8} exmerior point
(k) interior podnt, bat net centre
) boundary poine
{d) penure

B If the circle x% + ¥+ 2pc + 2 + ¢ = Ofc > 00 1ouches
the y-zxiz, then which oae of the fall nirag is commect ¥
Iia}gl-v.l'_l;mh' blg=%
(€] f =/ anly {.ﬂf:gJE

3 0f A(2,3),80(14),C(0, -2 and D{x, ¥) are the
wertices of a parallelogram, then what is the valee of

wircle

[x.¥1¥
{a) (L -3) (b1 {2 4
() (1,1] Cel} {0, 0

AL If O be the origin and A (x, 1), Blxy, yg) are two
paints, then what is (04 ) (O8] cas £ ADR?

ra) 5 + %3 1) v + y3
[c) 2z + ¥i¥s {d) gy + gy

. i z 2
I v = - _ i ., dh
¥=fixlp e and E yel then what i =
equal 1o ?
q
fa)-—= i) -1
e e
it IR S
q P

12 What is the selution of the differential equation

E:r__.--l:l:'i-_rf'l, 7

2
fa.".l_:r'=%+-trc

2
I_'b]hgf_‘r'+1]-=%+:+|;

B y=x+x+e
(ilog iy + 1 =x"+ x+e¢
1. What is [ lag (x + 1) dix is equal to ?

Alxkz(x+li-x+e
B+ bogix+1)}=xsc

iy ——+c
+1

@RExel,
x4l

. What is the area of the region bounded by the line
1:—32}'=]5,-T-L.r-3mdx-a:isinaqunl:?

18
[a) 5.? _ ] 3;
{c) 5 . (dy H
18, What are the order and d-agree respectively of the
d?}"\l 13
differential eqiation [ _[‘h_} ?

(aJ‘-’,é ) I.'b)_l,15
(?]LE ' HJIIE
1 Whmismeuajueuf.g'n=2d:7 '
ra&**—;!? (b e® -1
{€) 2¢e-1) dye-1 .
LW x=sint —r cosr and y =1 sin¢ + cost, then what'is
. :
Ea[pﬂlm:_ﬂ? .
T
a0 I:E-JE
fc) —E id11
18, rfjm- log { Flx1}E + ¢, then what is fix)equal to ?
fa) 2x +u i) x+a
(<) %+ﬂ ) o
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19. What is the area of the largest rectangular field which  27. What is the number of vectors of length 5 unit

- can be enclosed with 200 m of fencing ? perpendicular to the vectors = (1,1,0) and

(a) 1600 m? (b) 2100 m? 5
() 2400 m? (@ 2500m% b=(0,11)?
2. If ; is a position 'vector of a point (1,- 3) and A is Ea; ; . (2)421
another point (-1, 5), then what are the coordinates of ¢ (5131 x
28 What is th —?
the point B-such that X)B =a? it i the value Oth—IPm x
(@(20 (b) (0, 2) @1 ®o
© (—Z 0) (d) (0, 2) ) (©) G ;
: | s -1 2 4y

I a=21-3)-k b= i+4j 2k; then what is Ay =sin" x+sin™ y1 -, whatis — equalto?

(2+B)x(a-Db)equalto? - o @eosTxrcos -4
1 1
@2(axb) (b) -2(axb) ®)—+
. COSX 00541 - x>
- . - =
(©(axb) d)-(axb) ©F

2.1f : is a non-zero vector of modulus a and 7L is a @ g

~ non-zero scalar and A ; is a unit vector then P
(@A=t1 b a=|)| : 3. What is lim ,

. 1 @a 1. n]y x>0 X ;
(@Qa=— =
[Al A ?, (a) log (g—) (b) log (;)

2.Let a and b be the position vectors of A and B () ab ’ (d) log (ab)
respectively. IfC is the point 3a- 2b then whichone 34, Lt f(x) = {3" -4 0<x<2
of the following is correct ? 2+l 2<x<9
(a) Cisin between A and B _ If f is continuous at x = 2, then what is the value of I ?
(b) AisinbetweenC andB | (@0 ® 2
(o) Bisinbetween AandC (© -2 @ -1
(d) A, B, C are not collinear 0 If = log.[h th P 5

24, Consxder the following e (a{ (eﬂ . og.[log. x], e?b\)wsat is £ (e) equal to?

If a and b are the vectors formmg consecutive s1des of ©1 @o
a regular hexagon ABCDEF, then 3. If f(x)= e 198X and ¢ (x) = log cos x, then what
"1 CE=b-23 2. AE=2b-2 is the derivative of f(x) with respect to g (x) ?
N (a) f(x) cos[g(x)] (b) f(x) sin[g(x)]
3. FA=a-b ’ (c) g(x) cos[f(x)] (d) g(x) sin [f(x)]
Which of the above are correct ? 3. What is the smallest value of m for which
(a) 1and 2 only (b) 2 and 3 only f(x)=x*+mx+5 is increasing in the interval
(c) 1and 3 only (d)1,2and3 1<x<2?
25, If;, 3, ¢ are unit vectors such that a is perpendicular (@m=0 b)m=-1
the plarie of B, ¢; and the angle between b ande i @m=-2 @m=-3
to the piane 0 ’_f’ ai _f angle between b ande IS 45 what is the maximum value of x- y subject to the
I Then, whatis|a+b + ¢|? condition x + y = 8?
3 . @38 () 16
(@1 (b) 2 ’ (@24 (d32
(©3 4 .

26. What is the locus of the point (x,y) for Wthh the % ifqﬁlxt)of’x and g(x)=|x|, then what is (f +g)(x)
vectors (i xj Zk) and (21+J+J/k) are (a) Oforall xeR () 2xforallx eR
orthog?nal? , _ © 2x, for x>0 @ 0, forx20
(a) Acircle : (b) An ellipse 0, forx<0 2, for x< 0

(c) A parabola (d) A straight line
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nIf g(x)=sinx,xeR and f(x)=-_1—, xe(o,l‘-)
sin x 2

what is (gof ) (x) equal to ?

@1 sin Gin )

© — @ sm[ij
sin (x) sl X

S.For!hecurve&+ﬁ=1,whatisthevalueof%at

(1 l)?
\4'4)
@l ®1
2

©-1 @2
9. Let f : R > R be defined as

f(x)=sin(|x|)

Which one of the following is correct ?

{a) fis not differentiable only at 0

(b) 1 is differentiable at O only

(c) fis differentiable everywhere

{d) f 1s non-differentiable at many points

wify-= h: ,ﬁmnwhatis%yx—equalto?

10 X
@x
(b) x log, 10
() - (Ing 10) 00310 e)

(d)thme
«.WhatismmverseofmemmIay:s“**?
(‘)x=51/logy (b)x=y1/1°85
© x=587 (@ x =y’
42. Which ene of the following is corvect ?
. The function f:A-R where

.A={xeR,—%<x<Zrz-}deﬁnedbyf(x)=tanx. :

(a) Injective (b) Not injective
(c) Bijective {d) Not bijective
43. Which one of the following real valued functions is
never 2610 ?
(a) Polynomial function
(b) Trigonometric function
{¢) Logarithmic function
{(d) Exponential funcion -
M. Under  what condition are the two lines

y=¥?x+a,z=%x+3; : and

y=¥’;—'x+a',z=,%:x+ﬂ'onhogunl?.
@oo’ +ff’ +1=0 (b)(a+a)(1i+ﬂ) 0

@QU+mm+nn'=1 @U+mm +nn'=0

Directioms : Ead!ofdtcnen4(four)ttemconwtsof ‘

two statements, one labelled as the ‘Assertion (A)’ and
the other as ‘Reason (R)’. You are to examine these two
statements carefully and select the answers to these items

Codes :

(a) Both A and R are individually true and R is the
corect explanation of A

(b) Both A and R are individually true but R is not the
correct explanation of A

(©) Ais true but R is false

(d) Ais false but Ris true

45, Assertion (A) : If f(x) = log x, then

f(x)y>Oforall x> 0.

Reason (R) : f(x) = log xis defined

forallx>0.

46. Assertion (A) : f(x) = xsin (l) is differentiable at
: x

x=0
" Reason (R) : f(x)is continuous at x = 0.

47. Let X = {8 €0, 2n] : sin 6 = cos 8}
Assertion (A) : The number of elements in X is 2.
Reason {R) : sin 8 and cos 8 are both negative both in
second and fourth quadrants.

la.Assem'm:(A):{xeR"|x2<0}isnotaset. Here R is
the set of real numbers.

Reason (R) : For every real number x, X220 .

49. What is the probability that in a family of 4 children
there will be at least one boy ?

15 3 1 7
@ ®F ©Op @

50. In a school there are 40% science students and the
remaining 60% are arts students. It is known that 5%
of the science students are girls and 10% of the arts
students are girls. One student selected at random is a
girl. What is the probability that she is an arts student ?

1 3 1 3
51, Given P(AuB)=§,P(AnB)=% and P(§)=%.

Whatis P(A)?
@ l ®

(C) (d)

52. The outcomes of 5 tosses of a coin are recorded in a
single sequence as H (head) and T (tail) for each toss.
What is the number of elementary events in the sample
space ? , )
(@5 (b) 10 (© 25 (d) 32

53, Which of the following numbers is nearest to the
probability that three randomly selected persons are
born on three different days of the week ?

(a)0.7 (b) 0.6 (c) 0.5 d) 0.4

1
3
1

54, One bag contains 5 white balls and 3 black balls and a

second bag contains 2 white balls and 4 black balls.
One bal! is drawn from the first bag and placed unseen
in the second bag. What is the probability that a ball

now drawn from the second bag is black ?
@2 OES

56 56

37 . 25

27 d) 22
© 6 @ B

£ Josh
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55. Consider the following statements
The appropriate number of classes while constructing a
. frequency distribution should be'chosen such that
1. the class-frequency first increases to a peak and

then declines. :
2. the class-frequency should cluster around the class
mid point. .
- Which of the statements given above is/are correct ?
(a) 1 only (b) 2 only
(c) Both 1and 2 (d) Neither 1 nor 2
56. The populations of four towns A, B, C and D as on 2001
are as follows .
Town Population
A 6863
. B 519
c 12185
D 1755
What is-the most appropriate diagram to present the
above data ? ’
(a) Pie diagram’ (b) Bar chart

(c) Cubic chart * (d) Histogram

57. Consider the two series of observations A and B as .

follows

Series A | 1019 1008|1015 1006|1002
Series B |19 08 15 06 02

If the standard deviation of the Series A is \/ﬁ, then
what is the standard deviation of the Series B ? '

. (@) 38 () v0.38
(c) 0.38 (d) V38

58.1f my and ny are the sizes, G; and G, the geometric
means of two series respectively, then which one of the
following expresses the geometric mean (G) of the
combined series ?
(@) log G = MG+ G2
. N m+ ng
) log G = nylog Gy + ny log G4
m+ Ny
©G=" log Gy + nylog G,
n+ny
(d) None of the above B
5. Let X be the mean of n observations x, x,......, X If
(a-b) is added to each observation, then what is the
mean of new set of observations ? '
@0 ®x
(€ X-(a-b) (d)x+(a-b)

The frequency curve for the distribution of income in a
region is positively skewed as shown in the figure
above. Then, for this distribution

(a) Mean < Mode < Median

(b) Mode < Median < Mean

(¢) Mode < Mean < Median
" (d) Median < Mean < Mode

61, What is the area of the rectangle of whichr = ai +b i
is a semidiagonal ?
(@) a® + b* (b) 2(a%+ b?)
(© 4a®+b% (d) 4ab

62. After paying 30 out of 40 instalments of a debt of
Rs 3600, one third of the debt is unpaid. If the
instalments are forming an arithmetic series, then
what is the first instalment ?
(a) Rs 50 (b) Rs 51
(c) Rs 105 (d)Rs110

63. If x is real and x2—3x+2>0, x*-3x-4¢< 0, then
which one of the following is correct ?
(@-1<x<4 '
(b)2<x<4
() -1<x<1
(d-1<x<lor2<x<4 ,

84. What is the coefficient of x%y * in (2x + 3y%)%?
(a) 240 (b) 360
(c) 720 (d) 1080

65. A straight line is passing through the points
represented by the complex numbers a+ib and

;,where (a, b) (0, 0).
~a+ib

Which one of the following is correct ?
(a) It passes through the origin
(b) It is parallel to the x-axis
(c) It is parallal to the y-axis
. (d) I passes through (0, b)

66. Let R be the relation defined on the set of natural
number N as aRb; a, b e N, if a divides b. Then, which
one of the following is correct ?

(a) R is reflexive only

(b) R is symmetric only

(c) R is transitive only

(d) R is reflexive and transitive

67. What is the number of five-digit numbers formed with
0, 1, 2, 3, 4 without any repetition of digits ?

(a) 24 (b) 48 (c) 96 (d) 120

68. A group consists of 5 men and 5 women. If the number
of different five-person committees containing k men
and (5 - k) women is 100, what is the value of k ?

(a) 2 only (b) 3 only
(©)2o0r3 4

69. The product of first nine terms of a GP is, in general,
equal to which one of the following ?
(a) The 9th power of the 4th term
(b) The 4th power of the 9th term
(c) The 5th power of the 9th term
(d) The 9th power of the 5th term

70. The difference between the nth term and (n - 1)th
term of a sequence is independent of n. Then the
sequence follows which one of the following ?

(a) AP (b) GP
(c) HP (d) None of these
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71, Which one of the following is correct ? If z and w are
complex numbers and # denotes the conjugate of w,
then|z + w|=|2 - w|holds only, if
(@a)z=00rw=0
(b)z=0andw=0
(c) 5 - W is purely real
(d) z - w is purely imaginary

72. f x = 2/3 - 273, then what is the value of 2x3 +.6x?
(a)1 ®) 2
©3 (@4

V3

73. What is the square root of % -i - ?

V3 i (VB
X124 - =22
@ ( 2 72 %73
(c).t(ln-‘EJ (d)i[l—iﬁ]
2 2 2 2
74, What is the approximate value of (L02)8?
(a) 1.171 (b) 1.175
(©) 1177 (b) 1.179
75, 1f x 008100 = 2 what is the value of x ?
(a) 2 only (b) -2 only
(c) 20r-2 (d)1lor-1

76. What is the value of

V5{5y5 = ?

@5 (ORG
@1 @ (s3*

mIE7 points out of 12 are in the same straight line, then
what is the number of triangles formed ?
(a) 84 ®) 175
(c) 185 (d) 201

78. What is the last digit of 334n + 1, where n is a natural
number ?
(@) 2
©8

() 7
(d) None of these

TNIfX= [:) —2], and I is a 2 x 2 identity matrix, then

X2 — 2X + 31 equals to which one of the following ?
(a) -1 (b) -2x
(0 2X (d) 4x
80, If the matrix B is the adjoint of the square matrix A and

a is the value of the determinant of A, then what is AB
equalto?

@a ® (-&)I I (d) oI

where I is idenu'ty matrix

81. What is the determinant
bce a a

ca b bqequalto?

ab ¢ o

1 a a 1 & &
@[l b b ®1 % b3
1 ¢ ¢ 1 ¢2 3
1ad , a a* o}
©h b b3 - @ b* b3
hoe c & ¢
82 If x2+y2+z2=1, then what is the value of
1 2z -y
-z 1 xi{=?
y -x 1]
(@o M1 (c) 2 (d) 2-2xyz
83. If| A,/ = 3and] adj A| = 243,whatlsthevalueofn?
(@4 b5 () 6 @7

"84, Under what condition does A (BC)=(AB)C hold,

where A, B,C are three matrices?
(a) AB and BC both must exist
(b) Only AB must exist
(c) Only BC must exist
(d) Always true
85. If A is rhatrix of order 3x 2 and B is matrix of order
2 x 3, then what is | kAB| equal to (where k is any scalar
quantity) ?

(a) k| AB| (b) k3 AB|
(@) k% 4B| ()] 48|
-1 :
86. If 501 F x)_[-1 | ‘then which one of the
07 -y 2
following is correct ?
(@) x=5y=14 () x=-5y=14
©x=-5y=-14 (@x=5y=-14

87. Which one of the following statements is correct ?
The system of linear equations,
2x + 3y =4and 4x + 6y 7, has
(a) no solution
(b) a unique solution
(c¢) exactly 3 solutions
(d) an infinite number of solutions
88. Suppose the system of equations
ax+by+qs=4d
apx + boy + ¢z =dy
asx + b3y +C32'= d3
has a unique solution xg, ¥, %o)- If xg = 0, then which
one of the following is correct ?

@ b g 4 b q
(a)jay by col=0 (b)|dy by c=0
a3 b3 cj {d3- b3 c3
d @ o d @ b
(©)jdy ag cp=0 d|dy a; by=0

d3 az ¢y d3 a3 by
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8.If a,b,c are in GP, then what is the value of
a b ~a+b

2 b ¢ b+(?
ia +b b+c Q )
@o L M1
() -1 ’ (d) None of these
'90. What is the measure of the angle 114°35'30’ in
radian ?
(@) 1rad (b) 2rad
(©3rad (d) 4 rad
81, Consider the following statements
L ¢e{¢} 2. {0}co
Which of the statements given above is/are correct ?
(a) 1 only (b) 2 only
(c) Both1and 2 (d) Neither 1 nor 2

92. Which one of the following is correct ?
(@ AUPA)=P(A) MB)AnPA)=A
(© A-P(A)=A (d) P(A) - {A} =P(A)
Here P(A) denotes the power set of a set A.

93.

What does the shaded reglon in the above diagram

represent ?
@@AnBNC ®)(AuB)AC
©(AuB)-C (d) None of these

84. For the real numbers p,q,r, x,y, let p< x<q and
p <y <r.Which one of the following is correct ?
@p<x<y<r M) p<x<q<r
(@ p<y<x<gq (d) None of these

95. The binary number 0.111111 .... (where the digit 1 is
recurring) is equivalent in declmal system to which one

.of the following ?
11 -
= b) —
(a) ( )10
10
1 d) —
© ( )11

96. The difference of two numbers 10001100 and 1101101
" in binary system is expressed in decimal system by
which one of the following ?
(@) 27 . 29
(©31 (d)33
97. Let C be the set of complex number and 2, 2, are inC.
1 agr(z) =agr (z)) =2 =2,
2. |z|=|2d=2 =2,
Whjch of the statements given above is/are correct ?
(a) 1 only (b) 2 only
(c) Both 1 and 2 (d) Neither 1 nor 2

98. What is arg (bi)whére b>0?
@0 O

3n
©n @ Y

8. LetA={xeR|-9<x<4}

B={xeR|-13<x<5}and
C={x€R|-7<x<8}.
‘Then; which one of the following is correct ?
@ -9e(AnBNC)
B -7€(ANBNC)
(©)4e(AnBNC)
(d5e¢(AnBNC)
100. Whlch one of the following is correct ?
1
If—— ————;+C ,thena, b, care in

b-c b-a
(a) AP (b) HP
(c) GP (d) None of these
101. One root of the equation x? = px + q is reciprocal of the
other and p # + 1. What is the value of q ?

(@gq=-1 (b)q=11
(©g=0 (d)q=§

102. The numerical value of the perimeter of a' square
exceeds that of its area by 4. What is the side of the

square ?
(a) 1 unit () 2 unit .
(c) 3 unit (d) 4 unit

103. If the equation x2 + kx +1=0 has the roots o and B,
then what is the value of (a + B) x (™ +p71)?

(a) k2 ®) l
(©) 2k? ()——T
. (2k*)
104, If t,. is the rth in the expansion of (1 + x)'%!, then what
is the ratio 20 0 equal to ?
to
@I ®sx 0 @ =

105. If @ is a complex non-real cube root of umty, then ©
« satisfies which one of the following equations ?
(@x*-x+1=0 ®) x*+x+1=0
©@-x*+x-1=0 (@ x*-x-1=0
106. What is tan (cos™! x) equal to?

[_.2
@¥=x ) —=
x

1+x2

- -
© 1:x (d)\/l_—?
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107.Whatisthcvalueof(sin22%+coszzli) ?

(a)"_’_*_z*[_i. _ (b)liz_‘@
2 2
(c)—3-£?:—+—2 @1
2
mIfsin'lx—cos'lx=%,ﬂ1enwhatisthevalueofx?
(a)x=—§, ®) x=1
1 3
== d) x=22
(0 x 3 (d x 5

108, PT, a tower of height 2* metre, P being the foot, T being
the top of the tower. A, B are points on the same line
with P. If AP = 2**! m, BP =192 m and if the angle of
elevation of the tower as seen from B is double the
angle of the elevation of the tower as seen from A, then
what is the value of x ?

@6 ®7
(08 @9 ~

110. In a triangle ABC, b= J3em,c =1cm,Z A = 30° what

is the value of a ?

(@) V2em (b)2cem

©1em @%m

1. Let -1sx<L If cos(sin'1 x) =%, then how mahy

value does tan (cos'l x) assume ?

(a) One (b) Two

(c) Four (d) Infinite
112, Which one of the following is correct ?

(1 + ¢os 67 E] (1 +€0s 11210-)15
2 2

(a) an irrational number and is greater than 1
(b) a rational number but not an integer

(c) an integer

(d) an irrational number-and is less than 1

13.If sin2A= g, then what is the value of
tan A (os As %)7 ‘
@1 ®-1
(© 3 (d)2

cos 10° - sin 10° )

114. What is the valﬁe of ?
. cos 10° + sin 10°
- (a) tan 35° (b) tan 10°
1
©—+= @1
2

115. For what value of x does the equation
4sin x + 3sin 2x — 2 sin 3x + sin 4x = 23 hold ?

@2 | ®%
©3 ' %

1186, The equation sm 1(Bx 4x3 )=3 sm'l(x) is true for
all values of x lying in Wthh one of the following

" intervals ?

11
nL—ﬂ‘ ,,mhﬂ
@11

of1-]

117. Which one of the following pairs is mot correctly
matched ?

(a) sin 2n sin (-2m)

(b) tan 45° tan (-315°)

(©) cot (tan™! 0.5) tan (cot™ 0.5)

(d) tan 420° tan (-60°)
118, What is the value of sin (%) ?

@ «/” 3+1 ®) V6 : V2

© J§ + J_ 0 [§2+_1

119, What is the correct sequence of the following values ?

1. sin L 2. cos(1
12 . 12

3. cot (f-}
. - \12

Select the correct answer using the code given below
(@3>2>1 ®1>2>3

©1>3>2 @d3>1>2

120. I (a, b), (c,d) and (a-c,b-d) are collinear, then

which one of the followmg is correct ?

(@ bc-ad=0

(b)ab-cd=0

(©) bc+ad=0

(d)ab+cd=0
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Answers : General Studies

1 (c) 51 (b) 101 | (a)
2 (c) 52 (b) 102 | (b)
3 (d) 53 (b) 103 | (a)
4 (c) 54 (a) 104 | (d)
5 (a) 55 (b) 105 | (b)
6 (b) 56 (b) 106 | (a)
7 (a) 57 (b) 107 | (a)
8 (d) 58 (b) 108 | (d)
9 (a) 59 (d) 109 | ()
10 (c) 60 (d) 110 | ()
11 (b) 61 (d) 111 | (b)
12 (b) 62 (b) 112 | (d)
13 (b) 63 (a) 113 | ()
14 (b) 64 (c) 114 | (a)
15 (b) 65 (a) 115 | (a)
16 (a) 66 (d) 116 | (b)
17 (a) 67 (c) 117 | (a)
18 (c) 68 (c) 118 | (b)
19 (d) 69 (d) 119 | (a)
20 (b) 70 (a) 120 | (a)
21 (b) 71 (a)
22 (c) 72 (c)
23 (b) 73 (a)
24 (d) 74 (a)
25 (b) 75 (c)
26 (d) 76 (a)
27 (b) 77 (c)
28 (b) 78 (d)
29 (d) 79 (c)
30 | (a) 80 | (d)
31 (c) 81 (b)
32 (a) 82 (c)
33 (a) 83 (c)
34 (c) 84 (a)
35 | (b) 85 | (¢
36 (c) 86 (c)
37 (d) 87 (a)
38 (c) 88 (b)
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39 | (d) 89 (a)
40 (c) 90 | (b)
41 | (a) 91 (d)
42 (a) 92 (a)
43 | (d) 93 (b)
44 | (d) 94 | (b)
45 | (d) 95 (c)
46 | (d) 96 (c)
47 (c) 97 (d)
48 | (a) 98 | (b)
49 | (a) 99 (b)
50 | (b) 100 | (b)

10 |



